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In the two sets given below, Set-1 provides the different levels of learning according to

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (O (c)
(1) a) @ (iii)
(2) (1) (i1) (111)
(3) av) () @
(4) @y Q) @)
Options:

645350588949, 1
645350583900, 2
E4E35058901. 3
EAE350583902. 4

@)
(11)
(111)
(v)

(d)

(iv)
@av)
(i)
(i)

Set-I1
(Examples)

Identifying examples of a given concept
Generating new ideas
Recalling information

Isolating information into parts

Question Number : 1 Question Id : 64635014984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535058599,

1
E4E35058900. 2
E4E350583901. 2
E453505890%2. 4

Question Number : 2 Question Id : 64635014985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) (Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

64835058903, 1
E4E35058304. 2
E4535058905. 5
64535058906, 4

Question Number : 2 Question | d : 64635014985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058903, 1
64535058304, 2
64835058905 2
4535058306, 4

Question Number : 3 Question Id : 64635014986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podcast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

64535058907, 1
64535058908, 2
64535058309, =
64835058910 4

Question Number : 3 Question Id : 64635014986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350583907, 1
E4EZ5058908. 2
E4E250589089. 5



E4E35058910. 4

Question Number : 4 Question Id : 64635014987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

E4E35058911. 1
E4E35058912. 2
64535058913, 3
64535058914, 4

Question Number : 4 Question Id : 64635014987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535058911, 1
64535058912, 2
E4E35058913. 3
E4E35058914. 4

Question Number : 5 Question Id : 64635014988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below identify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i11) Informing the learner of the objectives

(1v)  Stimulating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1 @ ay )  av)
(2) @) @y vy )
(3) @ @@ W (vi)
4) @) ) @) @)
Options:

64535058915,
64535058916,
64835053917,
4535058918,

[ N

Question Number : 5 Question Id : 64635014988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058915, 1
E4E35058916. 2
4535058917, 5
64535058918, 4

Question Number : 6 Question Id : 64635014989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535058919, 1
645350589320, 2
64835058921, 2
4535058922, 4

Question Number : 6 Question Id : 64635014989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535058919, 1
4835058920 2
E4E35058921. 2
64535058922, 4

Question Number : 7 Question Id : 64635014990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64535058923, 1
64535058924, 2
64535058925, 2
4835058926 4

Question Number : 7 Question Id : 64635014990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535058923, 1
4835058924, 2
E4E35058925. 2
64535058926, 4

Question Number : 8 Question Id : 64635014991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and malking use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535058927, 1
64835058928, 2
4535058929 2
64535058920, 4

Question Number : 8 Question Id : 64635014991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058927, 1
645350589328, 2
645350589329 2
E4E35058920. 4

Question Number : 9 Question Id : 64635014992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What 1s the dependent variable in this study?

(1) Level of agpiration of students (2) Socio-economic backeround of students
(3) Scholastic performance of students (4) Term end evaluation
Options:



E4535058921. 1
64535058932, 2
E4535058933. 3
645350558924, 4

Question Number : 9 Question Id : 64635014992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535058921, 1
E4E35058932. 2
E4E35058933. 3
E4E35058924. 4

Question Number : 10 Question Id : 64635014993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

64535058935, 1
64535058936, 2
64535058937, 2
648350589328 4

Question Number : 10 Question Id : 64635014993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4535058935. 1
E4535058936. 2
E4E535058937. 3
64535058928, 4

Sub-Section Number: 2
Sub-Section 1d: 646350710
Question Shuffling Allowed : Yes

Question Id : 64635014994 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 18 for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyved up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light 1in hiterature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubiec. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When you are a little older,
vou will find that criticism i1s not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635014995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a gemus while not being one
(2) The geniug can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



E4535058929. 1
64535058940, 2
645350558941, 3
64535055942, 4

Question Number : 12 Question Id : 64635014996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
64635058943, 1
64635058944, 2
£4835058945. 3
64635058946, 4

Question Number : 13 Question Id : 64635014997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage 1s

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4535058947, 1
64535058948, 2
64535055949 =
64535058350, 4

Question Number : 14 Question Id : 64635014998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64535058951, 1
64535058352, 2
64535058353 2
E4E35055954. 4

Question Number : 15 Question Id : 64635014999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

645350554955 1
64535058956, 2
64535058957, o
64535058358, 4

Question Id : 64635014994 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635014995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058939, 1
4535058940, 2
64535055941, 5
64535058942, 4

Question Number : 12 Question Id : 64635014996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4535058943, 1
64535055944, 2
64535058945 o
64535055946, 4

Question Number : 13 Question Id : 64635014997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535058947, 1
E4E350589458. 2
E4E350558945. 3
54535058950, 4

Question Number : 14 Question Id : 64635014998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45350584951, 1

E4E35058952. 2
E4535058953. 3
E4535058954. 4

Question Number : 15 Question Id : 64635014999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E350584955. 1

E4E35058956. 2
E4E35058957. 3
E4535058958. 4

Sub-Section Number: 3
Sub-Section Id: 646350711
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635015000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
@  (a), (b) and (¢)
3  (a), © and (d)
(4) (a) and (d) only

Options:

64535058959, 1
64835058960, 2
E4E35058961. 2
64535058962, 4

Question Number : 16 Question Id : 64635015000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058959, 1
64535058960, 2
64535058961, =
4835058962 4

Question Number : 17 Question Id : 64635015001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

E4E35058963. 1
E4535058964. 2
64535058965, 3
64535058966, 4

Question Number : 17 Question Id : 64635015001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E35058963. 1
E4535058964. 2
E4535058965. 3
64535058966, 4

Question Number : 18 Question Id : 64635015002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

E4E350580967Y. 1
E4E3505896E. 2
E4E35058969. 3
B4E535058970. 4

Question Number : 18 Question Id : 64635015002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35058967. 1
E4535058968. 2
64535058969, 3
64535058970, 4

Question Number : 19 Question Id : 64635015003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

E4E350585971. 1
EAE35058972. 2
E4E35058973. 3
E4E535058974. 4

Question Number : 19 Question Id : 64635015003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4535058971. 1
BAE35058972. 2
64535058973, 3
64535058974, 4

Question Number : 20 Question Id : 64635015004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (11) Electro-magnetic impulses
) Message (1m)  The central nervous system
(d) Medium 1v) Sensory organs

Choose the correct answer from the options given below

@ (b (©) (d)

(1) @ (i) (i1) av)
(2) ) @ av) ()
(3) av) @ (11) (i11)
(4) @ Gv @ Q)
Options:
64535053975,
E4E3505897E.

EAE3S058977.
EAE35058975.

o LIRS

Question Number : 20 Question Id : 64635015004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ gHfeTa i

gz - 1 gz - 11
(T3YT F aed) (seRH- 9T 1 faaa)
() HIUTH @) afEass
(b) =AIEH (i) AeraesFg e
(c) ®@ew (i) PR S T
(dy W (v) HaE
A=t e g frew # & adt 3w 9w

1 @-@, b -0), -0, d-av
@  (@-@), b)) -0, ©-av), d - @)
@) @-av), (b -Q), ) - @), (d) - (u)
@  (@-), ®)-av), ©-an), d -0

Options:

64535058975, 1

645350589376, 2

E4535058977. 3
E4E35058978. 4

Question Number : 21 Question Id : 64635015005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
4  IJT
Options:

B45350589759. 1
64535058980, 2



E4E35058981. 3
E4535058982. 4

Question Number : 21 Question Id : 64635015005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o fasen & faa wum 6 qfd Fifomg
TEF, UGH, , WKL
(1) CMN
@  UJI
3 VIJ
@ LJT
Options:

E4E350589759. 1
E4E35058980. 2
E4535058981. 3
64535058982, 4

Question Number : 22 Question Id : 64635015006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
E4dE35055983. 1
45350554954, 2
646535058985 3
4635058956, 4

Question Number : 22 Question Id : 64635015006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafiaa § o fora auiTers aifisrdl om 8 fae o feem #1090 923 3 g 2

(1)  weHH

(2)  HEATFHAN
(3)  SEEEA
(4)  wIdE =H

Options:
45350554953 1

E4E35058984. 2
E4E35058985. 3
E4535058986. 4

Question Number : 23 Question Id : 64635015007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 1s the value of the

ratio>?

X

(1) 0.75 (2) 0.80
(3) 1.20 @ 125

Options:

64535058987,
4835053988,
4535053989,
4535053990,

o IR

Question Number : 23 Question Id : 64635015007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A x o y T T T § N xy T 25% At 2@ 2w oHE B
x

L 075 (2) 0.80
@ 120 @ 195
Options:

E4E35058987. 1
E4E535058988. 2
64535058989, 3
64535055930, 4



Question Number : 24 Question Id : 64635015008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhabitants of a village having died of malaria, a panice set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 2 5250
(3) 6250 (4) 7500
Options:

64535058991, 1
E4E35058992. 2
E4E35058993. 3
E4535055954. 4

Question Number : 24 Question Id : 64635015008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt i % 5% FanfiEi & AeifEr § 9 @9 % d1e QU W HAGAE g T 39h qRA 9 AETiEn 3 9
20% < M SEH FT Ol M e afmrasy ma fi AR gew 4750 @ T T F g
AftaniET f @ 2

(1) 5000 (2) 5250
(3) 6250 4 7500
Options:

645350589391, 1
64535058932, 2
E4E35058993. 3
E4E35058994. 4

Question Number : 25 Question Id : 64635015009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the simple interest on a certain sum for 1 year 3 months at 8}2—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) HKs. 8000
Options:

E4E350589595. 1
E4E350589396. 2
E45350589587. 3
6453505589398, 4

Question Number : 25 Question Id : 64635015009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft g=rafsn @1 aramor sars 84%% dfdad fi 22 4 1 ad 3 AE H 3041 & gaul w 8 HER H 7%
yfqad 6t sl 2 & 45% & Al g sar &, a1 g8 s 2

(1) 600 %. (2) 800=.
(3)  6000%. 4) 8000&E.
Options:

645350589395, 1
E4E350589596. 2
E4E35058997. 3
E45350589398. 4

Question Number : 26 Question Id : 64635015010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ i1s taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 1s pencil (4) Some pens are pencils
Options:

645350589949, 1
64535053000, 2
E4E35059001. 3
EAE35053002. 4

Question Number : 26 Question Id : 64635015010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe a aeg ol W 9RGE Ad 2 F o 6 forn S q1 Fefafigd § 9 SR 9F e oEd 8@
Hﬁ'ﬁ’l%:

(1) ol e A 2 (2) T ufoe T 2|
@ w3 o I AR A 2 @) T U IR # |
Options:

E4E35058999. 1
64535053000, 2
64535053001, 3
E453505300Z. 4

Question Number : 27 Question Id : 64635015011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 1s bulb

Select the correct answer from the options given below :

D (@, b)© (2) (a)and (d)
(3) () only 4 (D), () and (d)
Options:

64535053003, 1
64535053004, 2
E4E35053005. 3
E4E35053006. 4

Question Number : 27 Question Id : 64635015011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e aey feu o #, ToAm =m feed gra fRe g e snan al & Fefofaa 8 S8 g
Ferd &9 w9 O wiH fou S Had 27

A A ;o () ot T oo F )
(i) sl gl A4 2|

Elea] 1 (a) UM ded A 21
by =ft == 9g 2
© U ¥od 21
(d) = i ZE e A 2
A o e Frwet § & wd s afe
(1) (@, b)), © 2 (a) ()
@) ¥ (a) @ ), ) R’ (d
Options:

54535053003, 1
64535053004, 2
64535053005, 3
E4E3505300E6, 4



Question Number : 28 Question Id : 64635015012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises 1s same but they differ only in quantity, it

18 known as

(1) Subaltern

(2) Contraries

(3) Subcontraries
(4) Contradictories

Options:

64535059007, 1
64535059008, 2
64535059009, 2
E4E35059010. 4

Question Number : 28 Question Id : 64635015012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl GHI ATaR Al < 32T AT faum gae 2, foeq 3t aen B 2 91 g9l TR &9 d ST St 2

(1) T

2  foufia g

@  3u-foula wg

(4)  femarar
Options:

64535053007, 1
64535053008, 2
E4E35053003. 3
E4E35053010. 4

Question Number : 29 Question Id : 64635015013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

Writing on paper 1s similar to writing on the board’.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
4525059011, 1
40235059012, 2
64635059013 2
645350539014 4

Question Number : 29 Question Id : 64635015013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiad 9% # 9 $i vgam e e 7 g N2 waEd & wgu g |

(1) P
(2) g A
(3) G AT

(4) HATTHATHS
Options:
645350530111
64635059012, 2
4235053013 2
646535059014 4

Question Number : 30 Question Id : 64635015014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2 (a) and (b)
(3) (b) only

@  (b)and ()
Options:
4835059015, 1
&4535059016. 2
64535059017, 5
64535059018, 4

Question Number : 30 Question Id : 64635015014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a% ared | oadl afvn gftd 27 Refafia # 3 R ok e % oedged 2

(@ g il el 2l A 2

b)  FE o =i gfarfza A8 2

© @iz Wl uxht g % sy s a2
@ g ot g, ot A 2

5y o o, faerent 6 & T e A

O O, e W@
@ @O
@ ¥« (a)

@ (b R (o)

Options:
64535053015, 1

E4E3505901E. 2
E4E35053017. 3
B45350530158. 4

Sub-Section Number: 4
Sub-Section Id: 646350712
Question Shuffling Allowed : Yes

Question Id : 64635015015 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, Q,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 2300
Q 350 400
R 250 1510,
S 200 350
T 400 250

Sub questions

Question Number : 31 Question Id : 64635015016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T' at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

E4535053013. 1
B4535053020. 2
64535053021, 3
E4535053022. 4

Question Number : 32 Question Id : 64635015017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

E4E35059023. 1
E4E35053024. 2



EAE35059025. 3
BAE35053026. 4

Question Number : 33 Question Id : 64635015018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

(0 2:8
2) 314
B 1:2
(4) d:5
Options:
64535059027, 1
64835059028, 2
E4E35059029. 2
64535059020, 4

Question Number : 34 Question Id : 64635015019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 (4) 160
Options:

64535053021, 1
64535053032, 2
64535053032, 3
E4EZ5053024. 4

Question Number : 35 Question Id : 64635015020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
3 300 4) 840
Options:

E4E35059035. 1
EAE35059036. 2
E4E35053037. 3
64535053028, 4



Question Id : 64635015015 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Fffiga arferer ot fa=m $ifse, S v f@em 7 w e - o i e - & d o= feedi-i ey,
An, v o1 & F BEwd fi o gen fi W auid 21 g9 aifde % aar wog@ e gl (vee g
31-35) % 3 difor:

formram feew-femal i sl
e ferraTeR
T Eil
ot 200 300
| 350 400
aw | 250 350
o 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635015016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-v @ fhen-& 6 owl f1 15 fewd 6 gem = yfdea FAaEr-v @ Gea-dt < &= o0
femral =i wwean 6t qoFT § foar an?

(1) 220 yidwd (2) 200 yfdvE
(3) 210 yiqwd 4) 190 yfes@
Options:

645350530149, 1
64535053020, 2
E4EZ5053021. 3
EAE35059022. 4

Question Number : 32 Question Id : 64635015017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aHl Frmmedi-u, S sfl %1 e & Fon-a9 i fhon-aar i fishl 1 78 fewel 1 e @ e 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

64535053023, 1
64535053024, 2
E4EZ5053025. 3
EAE35053026. 4

Question Number : 33 Question Id : 64635015018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot W feen-dt 6t fasht $t 78 el 6t g = wuE fRmmEe- v fFen-ay e Geft &
fesrdl 6 qaT | ferar 2:

R 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

EAE35053027. 1
E4E35053028. 2
64535053025, 3
64535053020, 4

Question Number : 34 Question Id : 64635015019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-v v g fyen w ot el i feht 6 13 el it wa den it Rearer-d o ga faen &
ot fecHi it fosht it 73 fewdl i v gen F e v feen 27

(1) 180 (@ 170
(3) 150 (4) 160
Options:

E4535059021. 1
E4E535053032. 2
64535053033, 3



EAE35059034. 4

Question Number : 35 Question Id : 64635015020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forwre-sft ot fon-4t eiiv um $i e Ware skt $ 0 2w $1 sfoa gen feadf 22

1) 360 (2) 320
(3) 300 (4) 340
Options:

64535053035, 1
64535053036, 2
E4E35059037. 3
EAE3505903E. 4

Sub-Section Number: 5
Sub-Section I1d: 646350713
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635015021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
| i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1) Ponly (2) Q only
(3) Both P and Q (4) Neither P nor @
Options:

E4535053039. 1
64535053040, 2
64535053041, 3
64535053042, 4

Question Number : 36 Question Id : 64635015021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiaa 4 @ #a /w8 w9 g @ & % o d w12 2/77

P®) . A e uiEd 2, R aerd FeReE Ut st e (e vE giaer et
T 21
@ gurasi e § 2t sadR % fau 2 O & 1 avrdt soe ol SendiE F oo v a=s
ST %71 32E 2 |
1) % (P) (2 e Q)
@ (@) =@ aF 4) Fd @) HATd Q)
Options:
C4E25059029 1
4625059040, 2
c4deZE059041. =2
C4EZE0Sa042. 4

Question Number : 37 Question Id : 64635015022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware 1in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
systems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:

E4E35053043 1
64535059044, 2
64535059045 =
64535059046, 4

Question Number : 37 Question Id : 64635015022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



YR HTF2AAE & e U TIrEagy 491 27
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e &l 2 |
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Options:
64635059043,
64635059044,
64635059045.
64635059046

o IR

Question Number : 38 Question Id : 64635015023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1its content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

42350530471

E4EZE05904E8. 2

E4E35059048, 3
E4E35053050. 4

Question Number : 38 Question Id : 64635015023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFefafaa 5 9 =9 fadh (Wiki) =1 399 e 2ar 2:

(1) & yonell, St ITERTRAlA] 1 Uh JaEEe 9 gl Sied adt 2, <ifee g | e e ot gemn
= fafda w3 81 &t |

(2) Ok qolel, S Gead ©9 3 e Ao A A% [Avaa o TRV IR araie B erat ot 2
(3) U 9UIel, S A & 8 A v safdana e & w1 1@ e wdt 2
4) U wunelt, St U sArT F oia Areied & FIRE S 2

Options:



E4E35053047. 1
645350530458, 2
64535053045, 3
64535053050, 4

Question Number : 39 Question Id : 64635015024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym
VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
64535053051, 1
64535053052, 2
64525059052, 2
64535053054, 4

Question Number : 39 Question Id : 64635015024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wetel! 1 s SAeng TreE=dl WH i F fore dun fR e v atveds 3uer U § 3w
F1 2 | 21 ufiaef & vet § @ 9 9 2

(1)  difgal afFHT FHaEEse
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Options:

64535059051, 1
64835059052 2
4535059052 2
64535059054, 4

Question Number : 40 Question Id : 64635015025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1 102
@ 204
3 153
@ 5l
Options:

64535053055, 1
E4E35053056. 2
E4E35059057. 3
E4535053058. 4

Question Number : 40 Question Id : 64635015025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=rha 1100110 =1 T9geH G¥HeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

64535053055, 1
E4E35053056. 2
E4E35059057. 3
E4535053058. 4

Question Number : 41 Question Id : 64635015026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

1) Water that 1s beluind a dam

(11) Radio signals

(i11)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) @, ), av) and (V)
(2) @, @), (1) and (v1)
(3) (@), Gum), Gv) and (v)

(4) (@), @v), (v) and (v)

Options:

64535053059,
64535053060,
4835059061,
4535059062,

o P

Question Number : 41 Question Id : 64635015026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i)  GEAIY 92T g1 faHA
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fareu

Q) @, i), (v) # @)
@ ), @), (i) #N (Vi)
(3 G, (i), (v) I )
@ QD) (v), v) 3 (Vi)

Options:

64535059059, 1
E4E350590E0. 2
64535059061, 5
4535059062, 4

Question Number : 42 Question Id : 64635015027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Statement I : The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement II : Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor IT

Options:
64535059063, 1
E4E35059064, 2



EAE35053065. 3
EAE3505306E6. 4

Question Number : 42 Question Id : 64635015027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535053063 1

E4EZ5053064, 2
E4E35059065. 3
EAE3505306E6. 4

Question Number : 43 Question Id : 64635015028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
E4E2E059087. 1
4025059068, 2
64635059069, 3
64635053070, 4

Question Number : 43 Question Id : 64635015028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  &iwEm T, 1972

@  frear & sefien adie, 1992
(8)  SirEwgsri fraw o, 2002
(4  f=l +20 g9er, 2012

Options:

64535059067, 1
64535059068, 2
64835059069 2
4535059070, 4

Question Number : 44 Question Id : 64635015029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)), ©
@ (b)) @D
@ @ 0 @
@ (@), b) @

Options:

64535059071, 1
E4E35059072. 2
4535059072, 5
64535059074, 4

Question Number : 44 Question Id : 64635015029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1)  ABISH & AlFEed

@)  uew % sAieuEe

(3) 4w gH
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A fow e g ¥ & wd I g
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@ B © W
@ (@, ©), W@
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Options:

64535059071, 1
64835059072 2
4535059072 2
64535059074, 4

Question Number : 45 Question Id : 64635015030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

64535053075, 1
E4E3505907E, 2
EAE35053077. 3
E4E35053078. 4

Question Number : 45 Question Id : 64635015030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fefafiga 9 @ #=9 Hifas-witios i i goft | s 27

1)  mE (2) femam
(3) ATHMEF ST (4) st
Options:

E4E25053075. 1
E4BZ505307E. 2



EAE35053077. 3
B4535053078. 4

Question Number : 46 Question Id : 64635015031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
1n order to

(1) Encourage Indian Scholars to learn abroad
(2) Discourage Indian Scholars from researching in India
(3) Encourage global scholars engage with their counter parts in India

(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64535059079, 1
64535059080, 2
645350590381, 2
E4E35059022. 4

Question Number : 46 Question Id : 64635015031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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@  Afvas wedaredl &I fERy § yrdla asias & @ e s wE s #F e defzg s

Options:

4535053079, 1
64535059080, 2
64535059081, =
64535059082, 4

Question Number : 47 Question Id : 64635015032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (2) Learning from the teacher
(3) Learning from thinlking (4) Learning through instructional material
Options:

E4E35059083. 1



EAE35059084. 2
E4535053085. 3
E4535053056. 4

Question Number : 47 Question Id : 64635015032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) gl ° HigA (2) o= o dign
@)  faaT | " (4) SFeTETHS Gl & wreEm o e
Options:

64535053052, 1
E4EZ50590854. 2
E4E35059085. 3
E4E535053056. 4

Question Number : 48 Question Id : 64635015033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has e1ven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

64535053057, 1
64535053088, 2
E4E35059089. 3
E4E35053030. 4

Question Number : 48 Question Id : 64635015033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  derd geadia e (2) el gl A
(3)  zudl g=EdE FeE (4) Rl vEEdi AeAT
Options:

B4535053087. 1
64535053088, 2
64535053059, 3
64535053030, 4



Question Number : 49 Question Id : 64635015034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the muddle of 20t Century in India 1s indicative
of which one of the following aspects?

1)  Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(111) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only (1) and (111)
(2) Only (i) and (iii)
(3) Only (ii1)

(4) Only (1) and (1)

Options:

4535059091, 1
64535059092, 2
64535059093, =
64535059094, 4

Question Number : 49 Question Id : 64635015034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) *aa (i) SN (jii)
(2) Fad (i) AN (i)

(3) Fae (iil)
(4) Fad (1) AT (i)
Options:

64535053031, 1
64535053032, 2
E4E35053033. 3
E4E35053034. 4



Question Number : 50 Question Id : 64635015035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier organisation established 1n India to deal with capacity bullding and research in
planning and management of education in India and South Asia is

(1) ATU (2) SAARC University
(3) NUEPA (4) Nalanda Unmversity
Options:

64535053035, 1
E4E3505303E. 2
E4E35053037. 3
E4E350530398. 4

Question Number : 50 Question Id : 64635015035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) uaE.g, (2) ar% gRafdd (SAARC University)
(3 w.gidu, (@) Awe fafvaenea
Options:

64535053035, 1
64535053036, 2
64535053037, 3
E4EZ5053035. 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T T ST ¢
(a) @ —Tdih & |
(b) Tk weRd &

() G dmh — ik 2 |
(d) TEoE a9 — T 2 |
(1) (b),(ed(d) &7 |
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Options:

64835059099, 1
&4535059100. 2
64535059101,
64535059102, 4
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Correct Marks: 2 WrongMarks: 0
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Question Number : 52 Question Id : 64635015037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535059103,
64835059104,
4535059105,
4535059106,
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(1) (a)-(ii), (b)-(iv), (e)-(iii), (d)-(i)
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(3) (a)-(i), (b)), (e)-(iii), (d)(iv)
(4) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

Options:

64535059107, 1
64835059108, 2
4535059109 2
4535059110, 4
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Correct Marks: 2 Wrong Marks: 0

Agelt =l = Rl 8 wfafved a1 g3 =l = faxdl i3 wfafeed 4 wag Wam =+
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32 =1 Ty fashey 1

(1) (a)-(ii), (b)-(iv), (e)-(iii), (d)-(i)
(2) (a)-(iv), (b)-(iii), (e)-(ii), (d)—(i)
(3) (a)-(i), (b)), (e)-(iii), (d)(iv)
(4) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

Options:

64535059107, 1
64835059108, 2
4535059109 2
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Question Number : 54 Question Id : 64635015039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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(c) A 2 J=mon aEyd (i) TeTaTER
(d) wémo vgfa (iv) fiem
33 = w3 fawey T

(1) (a)=(ii), (b)-(i), (e)-(iv), (d)-(iii)

(2) (a)-(i), (b)-(iii), (e)—(iv), (d)-(ii)

(3) (a)—(ii), (b)-(iv), (e)-(iii), (d)-(i)

(4) (a)-(i), (b)-(iii), (e)-(ii), (d)—{iv)

Options:

64535059111, 1
64835059112 2
E4E35059112. 2
64535059114, 4
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Correct Marks: 2 WrongMarks: 0
teell =41 = foft fodf wiafeed a1 g8 = = foeft o3 wfafeed = «2d fem =01
=41 1 =at 11
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(1) (a)-(ii), (b)-(), (e)-(iv), (d)-(iii)

(2) (a)-(1), (b)-(ii), (e)—(iv), (d)—(ii)

(3) (a)-(ii), (b)-(iv), (e)-(iii), (d)-(i)

(4) (a)-(i), (b)-(iii), (e)-(ii), (d)—(iv)

Options:



E4535059111.1
64535053112 2
64535053113, 3
64535059114, 4
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Options:

64535059115, 1
64535059116, 2
64835059117, 2
4535059118, 4
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Options:

64635059115, 1
64835059116, 2
64535059117, 5
64535059118, 4
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64535059119,
4835059120,
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64535053125, 3
64535053126, 4
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Options:
64635059123, 1
64835059124, 2
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Options:
645350591351



E4E35059136. 2
64535053137, 3
64535053128, 4

Question Number : 60 Question Id : 64635015045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HITITA I 2 Fomar Wfavdl €t 9g9 w1 9g9 d |q S 87 21 T i
Sy

(1) =gl =im = |

(2) Tavasm = |

(38) @B |
(4) Ffd=m = |

Options:
645350591351

E4E350539136. 2
E4E35059137. 3
64535053128, 4

Question Number : 61 Question Id : 64635015046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HrEel Ieg
(a) STEETEH HA1T |
(b) HYEE = Ha U |
(¢) IHEH A TG |
(@) e gt = e O |
§%i?ﬂ'F%§1%FFFq'§ﬁ*:

(1) ()d (d) o7 |

(2) (b)d () TF T I

(3) (a)d (c) I |

(4) (a)d (d) &7 |
Options:
645350591391
645325059140, 2
64535059141, 3
64535059142 4

Question Number : 61 Question Id : 64635015046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR Teg
(a) @S HY |
(b) TIEE d/=E Tl U |

(c) ﬁ@ﬂﬁﬁaﬁl
(@ TG 8T welE
3ﬁi?ﬂ'F%§1%FFFq'ﬁj*:

(1) (b)d (d) 3t 7 |
(2) (b)d (c) 3F T |
(3) (a)d (c) 3H |
(4) (a)d (d) 3 7 |

Options:

64535059139, 1
64535059140, 2
64835059141, =2
4535059142 4

Question Number : 62 Question Id : 64635015047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT HET
(a) 99 O FH ATER FIET IZ0 FE T |
(b) Tom emed s ogm w7 |
(¢) T =1 GEH S W 7 |
(d) ST TTEIE F W M Sed §e 7 |
E%mt%s‘ﬁmgth

(1) (b)@ (¢) 3F T |

(2) (a)d (c) 7 |

(8) (b)d (d) 3% 7 |

(4) (a)d (d) 3 7T |
Options:
C4535059143 1
LAEZE0E9144 2
L4525 05E9145 =
CAEIEE0E9]14e 4

Question Number : 62 Question Id : 64635015047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TTETS HT
(a) T HH AT} FIT 50 FE 7 |
(b) Tom emed s oam % 7 |
(¢) TSI =1 YE(H S W 7 |
(d) I TTERE FH T T A w0 7 |
E%EIT?%EtﬁWﬂTﬁ

(1) (b)@ (¢) F T |

(2) (a)d (c) SF 7 |

(3) (b)d (d) 3% 7 |

(4) (a)d (d) 3k 7 |
Options:
C4E35059142 1
L4525 05E9144 2
CAdEZE0E9145 =
CAEZENES]1 4R 4

Question Number : 63 Question Id : 64635015048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Yzeft =idl = foxit fd wlafved a1 g3 =t = fexit fodf ufafecd w4 wo8 M +4 -

EE | =t 11
(a) fom & o= =u=siar (i) =ee
(b) T% 999 9 = TAETIA (i) #R
(c) foois =rhl ®9 (iil) T
(d) SremgeEl foRT-= (iv)
3¢ =1 28 ke T

(1) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
(2) (a)-(1), (b)-(iv), (e)-(ii), (d)-(iii)
(3) (a)-(i)), (b)}—(iv), (¢)-(iii), (d)—(i)
(4) (a)-(i), (b)-(i1), (e)-(iii), (d)—(iv)

Options:

E4E35059147. 1
64535059148, 2
64535059149, 5
64535059150, 4



Question Number : 63 Question Id : 64635015048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

geft =it = fo<ft fodf wfafeed a1 g8 =it = o< fodf wfafeed @2 w2 foam =10 .

=@l I =at 11
(a) fom & a=1 Tur=siiar (i) e
(b) &% =7 @+ waEIsia (i) ™R
(c) foois =rehl &9 (iil) T
(d) wgAqEt fha-=g (iv) 9

32 1w fapew 0
(1) (a)-(iii), (b)—(ii), (c)-(iv), (d)-(i)
(2) (a)-(i), (b)-(v), (e)-(ii), (d)-(iii)
(3) (a)-(ii), (b)-(iv), (c)-(ii1), (d)-(i)
(4) (a)-(i), (b)-(i), (c)—(ii), (d)—(iv)

Options:

64535059147,
64535059148,
4835059149,
4535059150,

[ N

Question Number : 64 Question Id : 64635015049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FA — G, TR — G, A — gues 3 wheamr — geres franfemso 2 smwm 2
W 3% AR T AR T § TR P e fashed T g

(1) Fd, %, o0 q fag |

(2) e, fog, 309 Fa |

(3) e, Fa, Fe0 4 5z |

(4) fog, Fa, e d 3 |

Options:

64535059151,
64535059152,
4835059153,
E4E35059154.

[ N

Question Number : 64 Question Id : 64635015049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fe — G, 4R — g, Afd — guep & whwmr — geres franfasod 2 s 2
T 5% AR AEN S e 2 Td Y e faeey ™A

(1) Fa, Fe, Ie0 d 52 |
(2) e, fog, I d Fa |
(8) w4, Fa, Ien d fog |
(4) fo=, $a, w5 q a1 |

Options:

64535059151, 1
64535059152 2
64835059152 2
64535059154, 4

Question Number : 65 Question Id : 64635015050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i, foreTss, sUg g= d Tiom gue @19 2 39 $1 2 WH 3% 9=y
dqNeTeh § s A SAEal fawey T4

(1) @, S, Wa |
(2) @b, S, dd| |
(8) W, W, A
(4) W, d, WA |

Options:

64535059155, 1
64535059156, 2
64835059157 2
E4E35059158. 4

Question Number : 65 Question Id : 64635015050 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e, foeeTes, sX™ g=F d T go @9 2 39 %0 ¢ N 35 9=y
dqleTeh ¢ Tas shA gl faeeed T ST

(1) d, s, wad|
(2) @i, S, dd 9|
(8) W, W, A |
(4) W, d, WA |

Options:
64535059155, 1
64535059156, 2



E4E35053157. 3
64535053158, 4

Question Number : 66 Question Id : 64635015051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“qrft firra o = O 2,
%2 Ffud serd 7 g |
FA-F2 T TG TR,
FA-HA &1 A AT Fre |7
3 Higa™ o
(a) T=BIIS 31 90 T |
(b) ~ T-FEH F A0 T |
(¢) FoORBFTAEY |
(d) TESER FAHC |
32 = T faweq T

(1) (a)d (c) IF 7 |

(2) (a)d (b) 3FT |

(8) (a)d (d) 3 7 |

(4) (e)d (d) SFT |
Options:
E45325059159 1
LAE2ZE0E91:0. 2
L4E2E05E9181. 2
CAEZEOE91EZ 4

Question Number : 66 Question Id : 64635015051 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“qreft fireten = 9 Ste,
F2 FT IEA FE FA
- GO g1 =1 @ e,
-T2 ;EL A Aren |7
30 i 7
(a) TEBIEIS q AT |
(b) -H9E & qUE T |

(c) e g aviA T |
(d) TESARE g auH T |
3¢ =1 Tos famweq =1

(1) (a)d(c) FHT |
(2) (a)d (b) 3F 7 |
(3) (a)d (d) 3w 7 |
(4) (c)@ (d) IH T |

Options:
64535059159 1

E4E35059160. 2
E4535059161. 3
E453505316%. 4

Question Number : 67 Question Id : 64635015052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
aatEa
(a) ¥ Hiaa-wlz U |
(b) 392 a1 dig FEER A |
(¢) F% THA-HHZE T |
() BT 1980 F THEE e |
3%311%5‘%&@_3@

(1) (a)d (b) 6T |

(2) (@) () IHT |

(3) (b)d (d) 36 T |

(4) (a)d(d) F&HETT
Options:
C4E3ZE05E9163. 1
CAEZENE91E4. 2
L4E2E0E91E5 2



E4E35059166. 4

Question Number : 67 Question Id : 64635015052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qaraa
(a) 3 hiadI-HUE U |
(b) T8¢ T g FHLER T |
(¢) TP THA-HHZET |
() B ¥ 1980 F TR B |
a’émt«%é%m?ﬁr

(1) (a)d (b) H T |

(2) (e)d (d) ST |

(3) (b)d(d) IHY |

(4) (@4 (d)IHAY
Options:
64535053163 1
E4E25053164. 2
E4525053165. 3
64535053166 4

Question Number : 68 Question Id : 64635015053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ygelt =ral = feil fed wfafTed a1 g3 =el = et o3 wfafeed 4 @3 e =+

il | =5t 11
(a) «t fired gr=n (i) g ek
(b) FU WM TA M (ii) =TT FHIsn
(c) 1 =T A e (iii) TMFE AT
(d) ws F7 am= (iv) e Syl
3¢ = T3 faehed I

(1) (a)-(i), (b)-(ii), (e)-(ii), (d)—(iv)
(2) (a)-(ii), (b)-(iii), (c)-(i), (d)~(iv)
(3) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(4) (a)-(iv), (b)-(iii), (e)-(ii), (d)-(i)

Options:
4535059167, 1



E4E3505916E. 2
645350531645, 3
64535053170, 4

Question Number : 68 Question Id : 64635015053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gelt =ial = fohl fod wfafTed a1 53 =l =1 foelt o3 wfafeed =+ w38 e =+

=gt 1 =gt 11
(a) tfied gr=n () oy Imeh
(b) UM A M (ii) ST FIEm
(c) T A e (iii) TMFE AHE
(d) wHFT (iv) Fom S
3¢ = T3 foerew o1

(1) (a)-(), (b)(iii), (e)-(ii), (d)-(iv)
(2) (a)-(ii), (b)-(iii), (c)-(1), (d)~(iv)
(3) (a)(iv), (b)-(iii), (e}-(i), (d)-(ii)
(4) (a)-(iv), (b)-(iii), (e)}-(ii), (d)-(i)

Options:
4235059167, 1

E4E35059168. 2
645350531645, 3
64535053170, 4

Question Number : 69 Question Id : 64635015054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Teell =d =1 foht fod wfafeed 21 g3 = = it fod wiafeedl g foem =

=@ | =@t 11
(a) wwYo () aR fog ngw
(b)  Sasr (ii)  erfoerfi mmam
(¢) HSATY (iii) e femrmi
(d) et (iv) T o Beife
¥ o1 v freer T -

(1) (a)-(iii), (b)-(ii), (e)-(i), (d)-(iv)
(2) (a)-(ii), (b)-(iv), (e)-(ii), (d)-(i)
(3) (a)-(ii), (b)-(i), (e)-(iv), (d)-(iii)
(4) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

Options:

64535059171, 1
64535059172 2
64835059172 2
4535059174 4

Question Number : 69 Question Id : 64635015054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ageht =it = et o wfafeed a1 gd =it = et Rd wfafeed 3 i frem &0

=41 | =it 11
(a) @Yo (i) sl fog ny
(b)  gasrd (i)  efyat men
() HSTY (iil) e forrmit
(d) erEmm (iv) #rE" @ it
32 o % fawen I

(1) (a)-(iii), (b)-(ii), (e)-(i), (d)-(iv)
(2) (a)Hiii), b)-(iv), (e)-(ii), (d)-()
(3) (a)=(ii), (b)-(i), (e)—(iv), (d)(iii)
(4) (a)-(ii), (b)-(i), (e)—(iii), (d)—(iv)

Options:

64635059171, 1
64535059172 2
64535059173 2
64835059174 4



Question Number : 70 Question Id : 64635015055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e, At HiEaT, T O FHET - AMETS @ 2 0 2 T TR 2 5 |1
W5 1 e faehed T ¢

(1) i, 9, g9aT 9 W e e
(2) W, AT, S O e el
(3) =R em fomm, =AY, A @ e
(4) =R =7 fimw, =, o @ gl

Options:
645350539175 1

E4E3505917E. 2
E4E35053177. 3
E4E35053178. 4

Question Number : 70 Question Id : 64635015055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, Tt wiEaT, TH @ ST — AfETs 6T 2 0 2 T TRk 2 S o1
w3 #0 e fawen 0 g

(1) e, =, SFaT § = e |

(2) =, AT, S 9 = e el

(3) =R @m fimm, =Ef, A @ TR

(4) =R en firm, =, A g

Options:

4535059175, 1
64535059176 2
64535059177, 2
64535059178 4

Question Number : 71 Question Id : 64635015056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



St ¢ R At o, o A A, T AR w e A A e
gz — 6 2 99 %0 2 T 2 TR 9 2 w2 o e famen W

(1) 7 1990, ¥ 2011, ¥ 2002 @ T 2010
(2) &9 1990, T 2002, 9 2011 4 & 2010
(3) ¥ 2002, 1 1990, 59 2011 d & 2010
(4) ¥ 2010, 7 2011, T 2002 § 77 1990

Options:

64535059179, 1
64535059180, 2
64835059181, 2
4535059182 4

Question Number : 71 Question Id : 64635015056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
S &t e Tmh S, 5 W 2, T A9 T A i e
U — TEh ¢ 39 9 ¢ T 3¢ T T1 ¢ W5 30 e (9o 1 541

(1) ¥ 1990, 7 2011, ¥ 2002 T ¥ 2010
(2) ¥ 1990, 7 2002, &9 2011 T &7 2010
(3) ¥ 2002, & 1990, | 2011 d & 2010
(4) ¥ 2010, 97 2011, 7 2002 © &7 1990

Options:

64535059179,
64535059180,
64535059181,
4835059182,

[ N Y

Question Number : 72 Question Id : 64635015057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



36 4 w9 i g 7 | 3% (A) @ oy Freemes w99 € gen (R) &

aﬁﬂa‘l’(ﬂﬁ:
2/g¥ (A) agfre Sl wad 31 YEAR WU AGET |
Tl & AR TS 2 A A
& (R) : amyfe 2R 2 yeendt w&ad At 3 Rt aww
T 7ot = w@e 2 wigar fafg |
34 91 Te3 foded I

(1) (A)d (R)Z & 74 (R), (A) T1 TE HOT T |
(2) (A)T (R) 2N F 77 (R), (A) 31 T3 01 B U |
(3) AFFTLI(R)Tea T |

(4) (A)Ted Ud (R) S T |

Options:

64535059183, 1
64535059184, 2
64535059185, =
E4E35059136. 4

Question Number : 72 Question Id : 64635015057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

23 31 & Tod T 7 | 3% (A) o19F I Fe=aens %o U d gan (R) eF

?JTﬁEFI'{'JTﬁ:

2gE (A) sygfe Sl Ffem 37 IR ®W WG q
HIGHM 3 AF-rEdl 8- g1 |Hl &l |

& (R) : amyfe 2R 2 weendt wad Amsh o fed aww
T Foilt =1 Wie 25 Hiaar fafga |

(1) (AT (RN IF T T (R), (A) 2 T8 FT T |
(2) (AT (R FF T q (R), (A) T T3 FROT R T |
(3) (A)HTA(R)Ted T |

(4) (A)Ted Ld (R) & T |

Options:

4635059183, 1
64535059184, 2
64535059185 =
645350591586, 4



Question Number : 73 Question Id : 64635015058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

%3 3 FY G ML T | I (A) oEYA A Py ®eE U 4 gen (R) e
I FRO T

3 (A) : Frry w2 Sv-tgd’ wf 2@ ¥ | 3| 9 @A
T 90§ FAT E Uhal I8 e 2 999 G
Tier T A T A B2 2 S M s g v

57 (R) : ey wET =9 e 1 9= @ g9 g6 T

(1) (A (R)ZR 3% 74 (R), (A) §T &E 1 T |
(2) (A)T (R)F F T 9 (R), (A) 1 & T 44 T |
(8) (A)THETT (R)Ted ¢ |

(4) (A)Tea T d (R)E T |

Options:

4535059187, 1
64535059188, 2
64535059189, =
64535059190, 4

Question Number : 73 Question Id : 64635015058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

£ 3 FYT G0 M2 T | 3% (A) EES Al Fvewes % U 9 gen (R) G
I FRM T

37T (A) : ‘Trerg #1=8 Sva-ted wfa@ 28 T | 3| T *f
T 97§ FA F UHal % WE 2 99T G
e T a TN B g FuT M g dier U

57 (R) : ey FET 2 9 1 fE=m @ geea 2E U

Eﬁmﬁgﬁﬂﬂﬁﬁ?

(1) (A)d (R)3N 3% 74 (R), (A) & &3 SR T, |
(2) (A)T (R)3 F T 4 (R), (A) 31 &3 T 43 T |
(8) (AIFTT(R)Tea Y |

(4) (AT T (R)SF T |

Options:

64535059187, 1
64535059188, 2
648350591289 2



E4E35053130. 4

Question Number : 74 Question Id : 64635015059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T dieft @ faar v
(1) a =g
(2) wHiam-wig
(3) =t 71 TR
(4) THA-ENE

Options:

64535059191, 1
64535059192, 2
64835059192 =2
E4E35059194 4

Question Number : 74 Question Id : 64635015059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o’ aief & faen v

(1) Ta =z
(2) wfaaEng

(3) =9H I IR
(4) THA-HIE

Options:

4635059191, 1
64535059192, 2
64535059193 =
64535059194, 4

Question Number : 75 Question Id : 64635015060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

7 Y1 g2 e T W oA O
(1) Z8-3m |
(2) IR |
(8) wpfa-fermm |
(4) HSICHAR |

Options:
64535059195, 1



E4E35059196. 2
64535053157, 3
645350531398, 4

Question Number : 75 Question Id : 64635015060 Question Type: MCQ